
 Easy

ID. DESCRIPTION QTY. REF.:

1 Left radiator side cover 1 9378J/CM3

2 Right radiator side cover 1 9378J/CM3

3 Left aluminum support 2mm 1 SOPOR-6P-11-9378

4 Right aluminum support 2mm 1 SOPOR-6P-11-9378

5 Left iron support 2mm original turn signal 
(optional homologated) 1 SOPOR-6P-11-9378

6 Right iron support 2mm original turn signal 
(optional homologated) 1 SOPOR-6P-11-9378

7 Subjection plates for original turn signal 3mm 2 SOPOR-6P-11-9378

8  Left acrylic turn signal (Supplied already 
mounted) 1 MET-----9378HM3

9 Right acrylic turn signal (Supplied already 
mounted) 1 MET-----9378HM3

10 Left turn signal (Supplied already mounted) 1 6475N

11 Right turn signal (Supplied already mounted) 1 6475N

12 Yamaya turn signals adapter (Supplied alre-
ady mounted on Puig item) 1 4863N

13 M5x16 Ø11 ISO 7380 Allen Screw 6 TORNI-I7380-493

14 M5 silentblock 6 SILENTBTM5-046/1

15 M5x1 nylon washer 6 ARNV00000000245

16 M5 ISO 7380 Allen screw cap 6 TAPON--------85

17  Ø12,5x4 silicon adhesive spacer (Supplied 
already mounted) 2 TOPE-PA12,7X3,5

18 M5x16 Ø11 ISO 7380 Allen Screw 2 TORNI-AI----520

19 Stickers set 1 ADHESI------254

YAMAHA MT-09 ‘17-

Ref.: 9378

Pg. 1/6

45 min1 person

ALLEN

Nº 3

RATCHET

Nº 10

SCREWDRIVER

FLAT

Intermediate

Difficult

PART

RADIATOR SIDE COVERS FOR 



Pg. 2/6

1

3

1

4

2
Original screwsA Original screwsA

OPTIONAL HOMOLOGATED

Original screwsA

Lado izquierdo  
Left Side

Follow the wire correct-
ly in order to remove it

Search original turn 
signal connector

OPTIONAL NO HOMOLOGATED

Dissassemble ID10/11 previously

18

A

12

4

A

A

A

A

A

A

A

A

6

A

4

10

STEP 2

STEP 1

PROTECTION 
Protects the rider from 
inclement weather



ASSEMBLY  NO HOMOLOGATED

Pg. 3/6

5

8

1 6

1 7

Original screwsA

Original screwsA

Left Side

Check turn signal

15

14

14

14

A

A

A

A

A

A

A

13
16

A

A 12



ASSEMBLY  HOMOLOGATED

Pg. 4/6

5

8

1 6

1 7

Original screwsA

Original screwsA

Lado izquierdo  
Left Side

Check turn signal

15

14

14

14

A

A

A

A

A

A

13
16

A

A A

MOUNTING SET (VIEW ANNEXED P.5)

A

A



INTERMITENTES ORIGINALES /  ORIGINAL TURN SIGNALS / ORIGINAL BLINKER

ANEXO 1 / ANNEXED 1 / ANHANG 1

Pg. 5/6

2

1 3 4

1

Original turn signalA

Flat screwdriver may be used to help

DISASSEMBLE ORIGINAL TURN SIGNAL

Original turn signal mounting on PUIG support

7

7

5

17

18

A

3

STEP 2

STEP 1

STEP 3

STEP 2

STEP 1

 - MOUNTING INSTRUCTIONS -

 ANNEXED 

  OEM TURN SIGNALS 



Pg. 6/6

12

14

1-2

8-9

10-11

5-6

3-4

15 13
16

A

19

19

19

19

ANNEXED 2 

  PARTS 

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html

